Revision of a Non-Specialised Translation: List of Error Categories for Candidates (English into Greek)

The translation includes errors at word, phrase or sentence level across the following categories:

Error Category Examples of Errors

1. Distortion: An element of meaning in the | @) Source language text: This week the government announced that all public servants would get a pay rise.

source text is altered in the target text. Correct version: Autn tnv eB6ouada n KuBepvnon avakoivwaoe 0Tt 0Aot ot dnudaotiot urtaAiniot Ba AaBouv

A distortion can occur in an individual avénon.

word, phrase, clause or entire sentence. ) ) ) o . ) . . .
Incorrect version: H KuBépvnaon avakoivwaoe ot 0Aot ot dnudotot urtadAAndot Sa AaBouv avénon autrn tnv

gB6ouada.

The original indicates the time the government announced changes to pay. The changed position of the time
phrase “this week” in the incorrect version alters the meaning of the text.

b) Source language text: The witness described the thief as a young man with black hair.
Correct version: O uaptupac nepléypae tov Anotn we veapov avépa Ue pavpa UoAALd.

Incorrect version: O Uaptupac MepLEypae Tov Anoth w¢ veapov avépa ue Eavid pailia.

“Black” was translated as “blonde”, thereby changing the meaning

2. Unjustified omission: An element of a) Source language text: The largest increases in soil carbon levels are obtained in the first 6-8 years after

meaning in the source text is not changes in land management, and after 35 years the rate of change drops to zero.
transferred into the target text.

Correct version: Ot ueyadutepec avérosic ota enineda avipaka E6APOUC ONUELWVOVTAL KATA TA TTPWTA 6-8 £Tn

An unjustified omission can occur withan | |, er4 a6 petaBoréc atnv Siaxeipion xepoaiwy ektdoewy Ko UETd ard 35 £Tn To T0000T6 aAayAc UELDVETAL
individual word, phrase, clause or entire oTo UnSEv.

sentence.

Incorrect version: Ot ueyaAUtepecg auénosig ota enineda avipaka e6a@OUC ONUELWVOVTAL KATH TX TPWTA 6-8
ETN UETA amo UETABOAEG oTnv SLayeiplon yepoaiwv EKTACEWV.

(The underlined clause was omitted, thereby causing significant loss of the meaning of the sentence.)

3. Unjustified addition: An element of a) Source language text: would guarantee that people leaving the workforce in their mid-60s enjoyed a
meaning that does not exist in the source | financially secure retirement.

text is added to the target text. Correct version: Ja eyyudtot OTL Tot ATOUA TTOU ATTOCUPOVTOL OTTO TO EPYATIKO SUVAULKO OTO 65° £T0C TNG NALKIOG

An unjustified addition can occur withan | royc 9a amodauBdvouv e owovouikd acpaln cuvtaiodétnon.
individual word, phrase, clause or entire

sentence.
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Incorrect version: Ja eyyudtal OTL TA ATOUA TTOU ATTOCUPOVTAL OTTO TO EPYATIKO SUVAULKO OTO 65° £TOC TNG
nAikiog toug Ba amoAauBavouv Lia olkovoulkd ao@aln cuvtaéiodotnon, yia to undAouro tne {wng Toug
aveédptnta ano 1o noco Yo {Hoouv.

(The underlined text does not appear in the source, and it cannot be implied from the source, hence the
addition of this text is not reasonably justified, and the meaning has undergone an unreasonable amplification.)

4. Inappropriate register: Incorrect variety | @) Source language text: In a recent judgement, the Criminal Court handed down a three-month suspended
of language or inappropriate vocabulary sentence.
for the text type (e.g. inappropriate level Correct version: e uta mpoopatn anoeact tou, To 1owiko Aikaotrplo ENEBAAE mowvr TPLWV UNVWV UE
of formality or informality). avaoToAr).
Incorrect version: Ze uta mpoéo@atn ano@aor tou, To Mowviko Alkaothplo E6wWaE oLV TPLWVY UNVWVY UE
avaoToAn.
(In the legal register, the wording usually used is that a court hands down (‘erupaAAel) rather than gives out
(6ivel) a sentence.)
b) Source language text: [in minutes of board meeting] The Chairman expressed his extreme displeasure.
Correct version: O Mpodedpo¢ eE€ppaoe tnv eviovn Suapopia Tou.
Incorrect version: O Mlpdedpoc gime OTL TOAVTIOTNKE TTOAU.
(The meaning of ‘etne 6L toavtiotnke moAUl’(said he was very pissed off) is the same as the meaning of
‘e€€dpaoe Tnv £vtovn Sucdopia tou’ (expressed his extreme displeasure), but is too colloquial and not formal
enough in this sentence.)
5. Unidiomatic expression: An expression a) Source language text: This year sees a strong increase in foreign investment.

sounding unnatural or awkward to a
native speaker irrespective of the context
in which the expression is used, but the
intended meaning can be understood.

Correct version: To mapoVv £€T0¢ ONUELWVEL EVTOVN aUéNon OTLC ENMEVOUOELG EEWTEPLKOU.
Incorrect version: To mopov €to¢ onuelwvel duvatn avénan otig emevduoeis eéwTeptkoU.

(‘évtovn’ is a correct collocation, whereas although the meaning of ‘Guvatry’ can be understood, it is not
idiomatic)

b) Source language text: She went home, washed her hair, changed her clothes and cleaned her room.
Correct version: lnye oniti, EAouoe ta uaAdia tng, adaée ta pouya TN kat kaddpiloe To SWUATLO THC.
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Incorrect version: Mnye ornitl, EAovoe puadia, aAdaée pouyxa kat kaddaplos SwUAtto.

(In Greek, when the possessive adjective ‘tng’ (her) is omitted, the meaning becomes unclear, ie. it could mean
that the actions objects (hair, clothes, room) are her own or someone else’s.)

6. Error of grammar, syntax: Error in
structuring words, clauses and phrases of
a language. E.g. incorrect word type/form;
incorrect verb tense/form; agreement
error between subject-verb, noun-
pronoun, adjective-noun, etc.

a) Source language text: A bunch of people came in and bought a bunch of flowers.
Correct version: HpO¢ éva tooUpuo avipwiwyv kal ayopace éva uatoo AouAoudia.
Incorrect version: ‘HpOe éva tooUpuo avIpwrnwy Kal ayopaoes Eva Udtoo AouAovdL.

(The quantifier is incorrectly collocated.)

b) Source language text: He watched a movie.
Correct version: MapakoAoudnoe uia tavia.

Incorrect version: Exet mapakoAovBnoet uta tawvia.

(The use of the perfect past tense of the verb is inappropriate.)
c) Source language text: My dog Milly just can’t stop playing with her own tail.

Correct version: H okuAitoa pouv n MiAAu Sev otauata va nailel Ue tTnv ovpd tng.
Incorrect version: H okuAitoa pou n MiAAv dev otauata va railel e TNV oUpd TOU.

(In Greek, the possessive adjective needs to agree with the gender of the corresponding noun, ie.
masculine/feminine/neuter).

d) Source language text: /t is the captain who flies the plane.
Correct version: O mIAGTOC €ival aUTOC TTOU TTIETAEL TO AEPOTTAAVO.

Incorrect version: O TMIAGTOC OLUTOC TIETAEL AUTO TO AEPOTIAAVO.

(Incorrect sentence structure which alters the meaning.)

7. Error of spelling: Error in forming words
with letters or characters. E.g. misspelling
of a word/character, incorrect
capitalisation.

a) Source language text: The purpose of this activity is to build trust in the team.

Correct version: To aVTIKE(UEVO QUTHG TNG SpAOTNPLOTNTAC ELVAL 1) ETTOLKOSOUNON EUTTLOTOOUVNG OTNV oudda.

Incorrect version: To aVTIKUUEVO QUTIC TG SPACTIPLOTNTAC EivaL 1) EMELKOSOULTN EUTTLOTOCHVNG OTNV oudda.
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(Use of incorrect spelling, as per underlined letters.)

8. Error of punctuation: Error in use of marks
that separate sentences and their
elements, and clarify meaning. E.g.
incorrect comma, full-stop, apostrophe,
inverted commas, etc.

a) Source language text: The government will change its policy on the taxation of trusts.

Correct version: H KuB€pvnan Ga tporonoljoeL TNV MOALTIK TNE OTOV TOUEQ TNG POPOAOYNnang
KOTQUTIOTEUUATWV.

Incorrect version: H KuBépvnan, Ba tpormomnotljoeL TV MOALTIK} TNG OTOV TOUEN TNG (POPOAOYNaNG
KOTQUTIOTEUUATWV.

(Incorrect use of the comma, which has inappropriately fragmented the subject and the verb.)
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